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PAPER THIRD
(PUBLIC FINANCE)

Time : Three Hours] [Maximum Marks : 80

Are- FdergaR |9 @vel & FR dfwE|

Note : Attempt all sections as directed.

gug - A

Section - A (1 mark each)

TR/ agRewia g
(Objective/Multiple choice questions)
die- = geEl @ IR difowe|
Attempt all questions.

TR IR BT TTH DifsTEl

Choose the correct answer:

P.T.O.
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1. FefoRea & & de foa feaer seoem 81 a=ar?
(A) TdsIHS FOT
(B) o
(C) dsic
(D) IHIM® 3
Public finance doesn't study
(A) Public debt
(B) Price policy
(C) Budget
(D) Public income
2. 30 3% e foeee forar &2
(A) DT
(B) & I
(C) Rawef
(D) wsH Ry
Who wrote wealth of nation?
(A) Keyens
(B) J.B.Say
(C) Ricardo

(D) Adam Smith
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3. ST & AR, HIRIUUT 09 T MM o1- 5. 3R <7 angdr &1 Ragid fean &
(A) M = Gd (A) St afsa=
(B) W > daAN (B) sreed
(C) wamT < Hd (C) i afEa
(D) @ Tl (D) @
As per Dalton taxation will be done when: Theory of "Tax-Paying ability" is given by -

(A) Sacrifice = Satisfaction (A) Joan Robinson

(B) Sacrifice > Satisfaction (B) Dalton

(C) Sacrifice < Satisfaction (C) John Bordin

(D) None (D) Pigoue
4. "IN BT R TH IR B Yeael Hifgd IR &1 I8 T & ° %ijﬁzx?ﬁm@ﬂmmsﬁ?ﬁ%
() (A) eFTcHS
(B) siee (B) UTcH®
(C) .. W& ©) I
(0) (D) 3% &

Tax burden is a direct monetory burden of a tax." This According to Wagner law public expenditure is related

statement is of: with economic development-

(A) Pigoue (A) Positive
(B) Dalton (B) Negative
(C) J.K. Mehta (C) Zero
(D) Massgrave (D) None
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8.

Due to public expenditure, purchasing power of public

(A) Decreases
(B) Increases
(C) Fixed

(D) None

A i @ H-
A) UKY-T)
B) U(T-Y)
C
D

(
(
(C) U(Y+T)
(D) U(yx=T)
In equal marginal sacrifice-
(A) U(Y-T)
(B) U(T-Y)
(C) U(v+T)

(D) U(YxT)
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9. GST & [T ¥ &-
(A) TR I S
(B) TE¥ & W o
(C) 759 wd Ifa¥ o
(D) @5 @l
What is the full form of GST?
(A) General Sales Tax
(B) Goods and Supply Tax
(C) Goods and service Tax
(D) None

10. HEH UFC 1962 D TN g1 ?
(A) 1-4-1963
(B) 1-3-1963
(C) 1-4-1962
(D) 1-2-1963
When did custom act- 1962 came in to force?
(A) 1-4-1963
(B) 1-3-1963
(C) 1-4-1962
(D) 1-2-1963
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11. 51d fbd B B TN Ud IRUG U & afth W TS, dl

12.

[7]

3 PEd &

(A) 3L
(B) wTel ax
(C) fafdre &=
(D) wfermdr ax

When impact and incidence of a tax is on same person,

is called -

(A) Indirect Tax

(B) Dirrect Tax

(C) Specific Tax

(D) Regressive Tax

< o ol W & v &-
(A) Y& X

(B) 3R

(C) (A) 3R (B) &l

(D) 1§ el

Which one is essential for economic growth of a nation:

(A) Direct tax

(B) Indirect tax

(C) (A)and (B) both
(D) None
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O VT S U6 a & &H srafer # < &, 98 &
(A) thos %o

(B) eler o1

(C) fac=it =or

(D) 3CIBTC T

Debt payble with in one year period is-

(A) Voluntary debt

(B) Redeemable debt

(C) Foreign debt

(D) Short term debt

FOT SN BT H {1 DI ST arell AT U @ ST
e

(A) *oT

(B) @I &

(C) @M <

(D) ®Ig el

Amount deposited in sinking fund will be come from
(A) Debt

(B) Tax

(C) Both (A)and (B)

(D) None
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Internal debt payable from -
(A) Annuties
(B) Capital levy
(C) Sinking fund
(D) Allof the above
16. YRT # 0T ae TorT &-
A) PDMA
B) PDAM
C
D

(
(
(C) APDM
(D) MAPD
Public debt management agency of India is:
(A) PDMA
(B) PDAM
(C) APDM

(D) MAPD

P.T.O.
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17. FIe g5t & Pl oRoT &
(A) 2
(B) 3
(C) 4
(D) 5
Total number of steps in performance budget are
(A) 2
(B) 3
(C) 4
(D) 5
18. T 3MENRA Foic Ngia & fawr foar-
(A) B
(B) U=
(C) @R
(D) Ig el
Zero budgeting theory was developed by
(A) Carter
(B) Peter
(C) Pihar

(D) None
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19. Tfed TG BT YA &Il &- Qus - §

(A) WRERTTT dalc Section - B

(B) 34 §sic aifcr o1y IR v

(€) 2t (Very short answer type questions)

(D) 'dﬁé el (2 marks each)
Aggregative approach is used in - A g vzl & IR 2-3 il § RiREw)

(A)  Traditional Budget Note : Attempt all questions in 2-3 lines.

(B) Zero Budget | YT o

(C) Both (A)and (B) )
What is mean by tax?

2. 9&siHG T o uRumr il

Give definition of public expenditure.

(D) None of the above

20. 57 P 3ifq Wil ar &

(A) @S TU
(B) 15T 94 3. 3T B T &P
(C) wem=a What is indirect tax?
)
(D) Iregufc 4. MOD VAT &I g_1 91 ford |

Write full form of MOD VAT.
5. I e I T A 27

What is mean by custom duty?

Final acceptance of budget is given by
(A) Lok Sabha
(B) Rajya Sabha

)
(C) Prime Minister 6. @R T &HAT TT &F

(D) President What is taxable capacity?
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7. ¥ golc B aRH Al
Define balanced budget.
8. W& Foic I TT 3T &7
What is mean by supplementary budget?
gus - 9
Section - C
oY IR T

(Short answer type questions)

(3 marks each)

Ae- 94 el & 7R Afsel v 9 75 |

Attempt all questions. Word limit 75 words.

1. 3G IR YOI P fa¥eran afsme|

Give characteristics of good tax system.

2. Hrodid & Bl gamse|
Give Value Added tax.

3. WY IR B 4 fGAwar sl
Give four features of indirect tax.

4. IGSI=IH FUT F UR Pl WE DI

Clarify burden of public debt.
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5. Imbalanced budget Rigid (3RigfTd §sic) Sage|
Give imbalanced budget theory.

6. ‘BY W B W A faaR |
Give your view on "Tax on Agricultre’.

7. WGSS FOT YEEH a1 7
What is public debt management?

8. difiis aotc o RO T &7

What is the concept of gender budget?

gus - §
Section - D
& I v
(Long answer type questions)
(5 marks each)

die : Wit ueEl & R dfEl e A 175 =

Note : Attempt all questions. Word limit 175 words.

1. Rrradier e § adse e & gfver aasel

Give the role of public finance in developing countries.

3yar OR
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RN BT FNBIUT DfoTe
Classify tax.
2. IR TH AT DT TIdd B 1T BRDI D AT B
Explain factors affecting taxable capacity.
3”yar OR
URd § AASTHe g & gkl Iase
Give trends of public expenditure in India.
3. HRd # AGSH FOT HI W W T B
Comment on public debt growth in India.
3”yar OR
S 3 & THE TE DI
Clarify effect of public revenue.
4. MM §3C R o9 o |
Write esay on General Budget.
3yar OR
Folc BT Pl TP Ngid P AT B

Explain any one theory of budget.

F-626



